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For each question from 1 to 30, four options are given. One of them is the correct answer.

‘Make your choice and shade the correct oval {1, 2, 3 or 4) on the Optical Answer Sheet.

(60 marks)

1 En the table below, P, Q and R represent the characteristics of some animals.

A tick (¥) indicates that the animals listed in the table below have the characteristic(s).

Characteristics.| ~ P a0 "R
Aqimals _
Cockroach - vy oo . _ _ i
Frog ' v L ¥
Grasshopper J | o .\I'

Which ‘of the following best represerﬁ»thg: hea@ings for P, Q and R?

(1) | Hés s_ix legé'- '_Léy eggé in wat‘er‘_', N Hasa3-$tagellife:cycle'

(2) | Hasa3-stage fife-dy_cle B Lay eggs‘in water Haé_ six _{egs

(3) | 'Has a4-stage life cyle [ " Hasixlegs © | Layeggsinwater |
@ | ¢ tassixiegs | Hasadstageliecyce | Layeggsimwater |

(Go on to the next page)
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A syringe was connected to a glass jar as shown i in the diagram below. The capacity of the jar
i$300 cm® The jar contained 250 cm of water and the synnge contained 10 cm of air.

plunger of syringe

air

‘ stopper

glass jar

water

When the plunger of the syringe was pushed in completely. 10 cm of air was forcec[ into the
jar. What was the volume of air in the jar after the plunger of the synnge had been pushed in

completely?
. (1) ,.:10 =
L (2) B0em? . -
@) moemt

(Goon to the next page)
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-3 A torch was shone at three objects hanging by strings as shown in the'diagram below.

Torchlight Mug Mirror Tennié
. ball

Screen

Which one of the following shadows will most likely be formed on the scree‘n"?

) o | @)

(Go on fo the nextpage)




-4 Study the circuit diagram below.

Bulb Z
S1

33

Bulb Y

6? Bulb X

In which order must the switches be closed so that Bulb X lights-up first, folléwed' by Bu_lb'Y

and ther_n Bulb Z?

First

. . Second ' Third

(1) s 2 s3

| @ s2. s3 st
@ |  s3 s7 81
L@ st s3 &

(Go on to the next page)
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"5 The electric circuit in the diagram below consists of two identical bulbs and four identical
batteries. At ﬁrsT,’BuTb A was unlit while Bulb B was lit with a brightness- of 10 units. When the

button is pushed downwards as shown by the arrow, the metal lever moves upwards fo touch

metal pin X.

Push
down

%il ' :.'met'alpin)(-@

Bulb A

' button

metal lever

metal spring

=| I= ® metal pin Y

Bulb B

. How..much would Bulb‘A and B be lit when the button is pushed down?

~ BubA -- . |  BubB
(1) Brighter than 10 units Brighter than 10 units
ey Ounit [ 7 Ounit
@ owis | tounits
@] - rowis | ownmit

(Go on to the next page) |
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6 Terry set up an electric circuit as shown in the diagfam below. He connected three different
objects, A, B and C, each made from a different material but of the same size. The objects
- were connected, one at a time, at the points P and Q, and left in the circuit for 20 minutes

each.

Object

The table below shows the observations he_ made.

Object | Did the bulb light up? | Was the object hot?
A Yes “No
B - - No- -~ -} " No -

C ' Yes . ' Yes .

Based on the observatlons above, Terry made some concIUSIons
Whlch one of the following conc!usmns is most likely to be correct’?
(1) Ob;ect Alis an lnsuiator of electncnty

(2)  Object B is a conductor of electricity.

(3) - Object C gives off less heat than Object A

(4) '_'ObjeCts A and C‘z'a_.re ponddqtors of electricity.

{Go on to the next page)
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7  The table below shows whether a specific part of a cell is present or absent in three dlfferent
types of cells, P, Q and R.

A tick (V) indicates that the specific part of a cell listed in the table below is present in that type

of cell.
Cell part Nucleus Cell Wall Chloroplasts Cell
Cell type Membrane
P J v N
Q v N v v
'R v | | \

Based on the information from the table above only, which of the following statement(s) about
- P, Q and R isfare true?
A Q is most likely a plant cell.

B P is most likely an animal cell.
C R may be found in the leaf of a plant.

(1)  Aonly

(2) Conly |

(3) A andB only
(4) B and C only

8  Which of the followung statement(s) about the resplratory system aslare correct"

A Thenose halrs trap dust e

B The resplratory system helps to remove carbon dloxlde from the body

Cc The mam organs m the resplratory system consust of the nose, gullet !ungs and

dtaphragm

(1) - Aonly .

“A-and B only

A, B'and.C

(Go on to the next page)
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9  The diagrams below show the parts of two different cells, A and B.

CellA.

Which parts of the qeils are correctly matched fo their functions?

Parts o - ~ Functions

(1) Mand P | Give the cells their regular shape. -

(2) | Jand P Cohtrol-all the activities in the cells.
(3) LandQ .Jelly~Iike substance where most cell activities take place.
(4) | ‘KandR. | Control thé iovement of substances in and out of the cofle.

{Go on to the.next page)



10

10  The table below shows the comparison between sexual reproduction in flowering plants and-

humans.
Flowering Plants Humans
Male reproductive cell w Y
Female reproductive cell X | z

Whiéh of the following correctly represent W, X, Y and Z?

w o x | Y z
(1) spén*n ovule pollen grain - © womb
2) ahthe'r . _ stigma . sperm ' egq
(3) . pollen gfain_ _ ovule , sperm | - egg
'(4)_‘ | po![e‘n gr'ain- T .. | 'étylé | | anther -_ | | womb

11 The diagrams below show the male and female reproductive parts “o'f a human.

Which parts of the systems produce the feproductive sex cells? - .7~ =~ =i |

() WandYoniy -
(3 XandYonly
(4)  Xandzony

(Go on to the next page)
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12 Study the family tree of the Lee family below. A brief description of the physical charactenst:cs
of the different family members i is given.

Key:
male Q female
curly hair Mr Mrs E}Liigehtegair
brown eyes Lee i lee | oha %ose
flat nose sharp
Arthur , Colin
blue eyes . curly hair brown eyes straight hair
sharp nose blue eyes flat nose brown eyes

Based on the information above, whlch of the four chlldren mher:ted exactly two
characteristics from one of their parents?

(1) Betsy and Diana only
(2): -Arthur and Betsy.only ~ -
(3) Arthur and Cohn only
e '_'.".(4)"_' 'Arthur Betsy. Colm and D:ana
S 13 ;"—‘_-'!'.Wh:ch of the followmg characterlstics c¢an be passed down from parents to thelr : '
B young? S e . e
A Fmgerpnnt

" L Length ofhalr _ B
e Attached earlobes

) AandBony
@) CandDonly
(3} B, CandD only
(4) Al of the abov.e

(Go on to the next page)



12

14  The diagrams below show a paft of the human respiratory system, P, and a part of the
underside of a leaf, Q.

_Underside of a leaf

Based onth e d,agramsaboveWh[ChOfthefOUOWan é_t'ét-ement(S) about P and Q|slaretr ue” o
R A Air is. stored '" P andQ o | |

Q makes foodfor.the plant.

"Gaséous exchange occurs.at Pand Q.

| (2) C oh[y.
(3) Aand B only
(4) Band C only

(Goon to the next page)
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15 Raphael recorded his breathing rate while he was at rest for five minutes_. He then started to
run for five minutes.. He then stopped running and rested for five minutes. His breathing rate
was continuously measured for an entire 15 minutes.

Which' one of the following graphs most likely represents - a change in his breéthing rate-
before, during and &fter the run? '

O _ (2) .
' Number 4 . Number 4
of of
- breaths breaths ; -
5 10 15 5 10 15
Time (min) - . ... ... [Time(min)
(3) | N @
Number 4 : _ Number T .
of 7 ~of .
breaths - ; breaths .|
R I R e ST e el
CTmein) Ut Twmeum [

(Go on to the next page)
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16 The diagram below is a picture of a car. Different parts of the car are made of different material.

Which one of the following materials are best suifed for making parts E, F and G of the car?
E | F G |

N Metal Giass Rubber

(2) Glass Rubber Metal

@ | Class Mot ™ Rubber

@ Rubber T Glass . | Mel

17 Study the pictures of the leaves below.

_"_'j:,:il:,ddf;'étudeptsl made comments _ébout the i.e'avéé‘.-
- ‘Alex: " Eachofthem hasaleaf stall. - "+ N
" "Bobby: Leaf A and Leaf Chave network veins, butnot Leaf B, ~* 1+ |
" Charlé: Loaf B is narrow inwidth whils Leaf Ahd C are riot, -~~~ &

- Danny: They have entire édges.- .~ "3

: .-'-thch studerits had made the right comments? .
(1) Alexand :Charlrie_ionly.‘

(8 Alex, Bobby arid Charie only -

4y AiexBobbyCharlleandDanny B

(Go on to the next page)
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18 Study the pictures below.

housefly ostrich
'Based on the obéervation of the diagrams and your knowledge about them, ‘what are the
common characteristics of the four living organisms?

A All of them can ﬂy.

B All of them have wings.

C " Allof them reproduce by laying eggs.

(1) Bony |
(2) AandConly N
13) B and C orily

(4) A, BandConly

19 Which of the following proce'sse:_s take place ata constanﬂt temperafﬂre?
A Boiling B '

B Meiting

c Freezing

D Evaporation

E Coh'déﬁsatidp' B o

() DandEory v
@ Asadcey
(@ B Candbony <

“(4)“Nofie of the abéve -~ - - -

(Go on to the next page). -
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20 Which of these statements about the evaporation and boiling of pure water are correct under

normal conditions?

(1)
(2)
(3
@

A
B
C

Boifing requires heat while evaporation does not.

Boiling produces steam while evaporation produces water, vapour.

Evaporation rate is affected by the exposéd surface drea of water while boiling
rate is not. '

Evaporation can take place at room temperature while boiling can only take place
at 100°C.

A and B only
C and D only
B, C and D only
All of the above

{Go on to the next page) .
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21 The 'diagram' below shows that roots of the plant hold on to the soil firmly. By doing so, it
reduces the amount of soil being washed off a slope when it rains,

Alex carried out an experiment to find out if the roots of the plant reduce the amount of soil
being washed off a slope. At the start, 1000 g of soil was placed in three identical trays
slanted at an angle Five plants without roots were planted in set-up B while five plants with
roots were planted in set-up C. All plants were of the same type and height.

Set-upA | : Set;upB o Set—upC

Equal amounts of water was poured onto the set—ups as shown above The amount of sou
left in each tray is dned and welghed Predlct the amount of soﬂ left in the tray at the end of N
the expenment for each set-up R ." — 'i e . ‘;.;,_ o R '_.‘

S Amotunt of Soif *-*z*A;;-.ann’f&f'san_ [ Amount of soil

- [deftin setiupA [“leftin'sétup B | left insetupC |7
e T o 70T TeR0 ]

(Go on to the next page)
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22 Steven wanted to conduct an experiment to find out how different types of soil affect the rate.at
whith waterseeps through them when it rains. He set up the experiment as shown below and
poured 100 mi of water to the different scil and measured the amount of water collected in the

beaker after 30 minutes.

100 ml of
water

" beaker

The resuit was recorded in the fable below.

' . Amount of water collected in the
Type of Soil’ o T L
beaker after 30 minutes (ml)

B LB

~ Which soil, A, B, C or Dy is thie worst.at slowing down thé: rate of water seeping throughiit?s. - -

)
)
@

oo @ >

(Go on to the next page)




19

23 The line graph below shows the change in population size of organism P over a period of four

months. The number of organism P at the beginning was 600.

Number of organism P

400 A e ity e e

200 -+

Pl s e o
T o a0k 5 . e i e s . e o 2 B0

i ——
3 . 4 Time (Month)
Based.on the graph only, which one of the following statements is correct?

(1) The number of P decréased every month. - _

(2) The number-of P remained tﬁe same for a menth. L

(3)  The wholé population of P died éyentuélly due to a diséaée.

(4) The highest nl;i_mlzi'er of P was".reéb-rdé,d at the end of the first month.

(Go on to the next page) ~
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24 The diagra}ﬁ below represents the similarities and differences of the tubes fo_'und in a plant

transport system.
Can be found in leaves, stems and roots of plants. |
4 4
I Similarities |
l
l‘_ :
Tube G Tube H
T '
I Differences |
Transports Substance X Transports Substance Y, which
needed for photosynthesis is the product of photosynthesis,
fromroots. - to all parts of plants.

Which one of the following correctly identifies G, H, X and Y2 .

Tube . ' - 'Subétanqe
(1 'foo_d—carr_ying i 'Watér—carrying - food T water
(2)- water-carrying food-carrying food water
© (3 fodd'-'CarrYinQ 1 -water-carrying *| - - . - water {07 foed o ]
(4) water-_c_arryin_g : food-carrying . . water ~ food

-(Go-on fo the next page) VI
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'25 Two identical plants with whlte flowers were placed in a beaker of water mlxed with blue dye

- each as shown in the di iagram below. The leaves of the plant in set up Y were removed while

the plant in set up X has leaves. Both set ups were placed under the sun.

It was observed that both flowers tumed blue. However, the flower in set-up X turns blue

_.fas'ter than the flower-in set-up Y. What can you infer from t_hi_s _ebservation_? _

)
L@
®

o (4)

OO0 w >

The stem only transports water to the leaves.
The water travel up the stems of the plant to the flower.
The presence of leaves speeds up the transportation of water in plants

The presence of leaves does not affect the transportation of water in plants

A and.C __c'_)_nly‘

B and Donly-i:« ,;' P

“Aand D 6nly .

Band C on!y .

(Goon to the next page)
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26 Lance wanted to find out what will- happen wﬁeh the food—éarrying tubes have been removed
- “from a setfior of the stem.He 'set up the experiment as shown below and carefully removed a
ring of stem so that only the food-carrying tubes were removed. He left the plant near an open

“window for five days.

plant

~ stem with outer layer removed

. , ——— layerof oil
T e R SN water

e -+

e A

Predict what Lance will observe at the stem five days later.
1) (2)
.« swelling
- swelling .
~ swelling

(Go on to the next page)
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27 Observe the fruits below Based on their characteristics that’ you can observe, |dentn'y their
method of seed despersal

; d!'y fruit wall

= ¥ vingliks small o fleshy
. fibrous husk structure . indigestible fruit

“seed ... seeds
Fruit A Fruit B ' FruitC - - FruitD

Seeds are dispersed by:
L[ Animals | Water ~Splitting Wind
m A —C_ B |

2} A . B - D
@ . B —<¢. | A
(4) D ‘ B A

Ol 9ol o

28 James placed an equal number of similar seeds into four dishes (P, Q, Rand S). Each dish was
_ exposed to dafferent condzttons as shown in the table below. A tlck (¥ )indicates the" presence
of the condition. ' '

Cond:tlons

| Dish

Water AII" nght ’Tempefafute‘.(?C) i o
, — T S e

“of 20| B,
Y
<

4 s

(Go on to 'the next page}



24

29 The diagram below shows the cross-section of a flower.

— A
— B
— C

Which is the correct label for the parts A, B, C and D?

A | B c D
(1) || Anther | -Stgma |  Syle | Ovary
2) Ovary Style [ Anther Stigma
(3) ‘Stigma _ Anther.. | Ovary Style
(4) Ovary Style - Stigma Anther

{Go on to the next page)
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30 Study the flowchart .l-)elow. It describes the general characteristic of the flowers that are

pollinated by different animals.

[ Flower ]

Does it have

ermeil? Pollinated by birds ]

Is the smell Pollinated
pleasant? by fly
Is the petal white Pollinated by |
- i colour? “butterfly
vl
Pollinatedby |
f. moth
Plant X has flowers with white petals-and swéet-'fr'ag'rénce-.--_ -
- Which animal s most likelyfo pollirate the flowers of plarit X2, ..

o Ry,
@ Bid

End of Booklet A

Check .your answers carefully.
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For questions 31 to 44, write your answers in the spaces provided.
The number of marks available is shown in brackets [ ] at the end of each question or part question.

(40 marks)

31 - Ronald found two identical glasses that are stuck 'together as shown in the diagram below.

Glass A

‘Glass.B

(a) Describe what Ronatd can do to separate the two glasses without breaking them. [1]

(5‘)‘ EXpIairi your.arrs'\arer'i'ri'_(a)-r. - _ T o (1]

e O _-'Once the. two glasses were separated Ronald then: used the two giasses A and B 1o, conduct

;.. ‘another experiment to study the dlfference between heat and temperature The tabie below L j :

provrdes the detalls of the set-uPS that he used for his expenment

: Set-up —— GlassA [ GhassB. |
ST ._-Vanables ' R ,

- Temperature of surrounding .(.‘.’C)"ﬁ B 30°C

(Go on to the next page)

Score
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{c) Ronald predicted that the two gIasées of Water‘will cool down at the same rate since
both of them were filled with water of the same temperature.

Do you agree? Explain your answer. 2

(Go on to the next pagé)

Score



32 - Samuel setup an experirhent as shown in_the diégram below to find out which liquids conduct

electricity.

Metal plate -

Liquid

A similar set-up was used every _}ime a new liquid was tested. He recorded whether the bulb

lit upinthe table shown below.

Did the bulb

' Liquids PR light up?
_Viﬁegar ' _ — . ‘ Yes
7 Seawater . = ) Yes
‘Pure water . o No
T A —

IR

(a) State one vanable thatmust bekeptconstantso thatthe expenmentlsa fair one [1]

(b) - Samuel mferred from his observahon that vinegar isa better cenductor of electncuty than
seawater What could he'have observéd to make this mference'? )

{Go on to the next page)

Score




33 Three different types of rods, A, B and C, of the same size were placéd in two electric circuits
as shown in the diagrams below. One of the rods is an insulator of eIectncuty The bulbs in
both circuits lit up. -

if—— R

- B

—) 1+ 11

B
. (a} Based on:the disgrams above, which rod is an insulator of electricity? [1]

The three rods .Q.,B'and C ‘were then p!aced at posmorts XY and Z in another electric circuit

as shown below.

B e |

(b) Based on the dtagram above complete the table below For each scenarlo mdlcate

L whlch bulb(s) would ltght up by puttlng a tlck ( \’) in the correct box. o ‘_[2]:__ -

Scenano Pos:tlons where rods were'placed "' y Bulb(s) thatWOU'd I'irghtl""‘-lp-' o

o- ,g._-;, id l--‘A_"_.u‘ e

PosmonX Posﬂmn_;Y Posutron Z ‘ Bt..fﬂ_; . BZ ..o B3 S

(Go on to the next page)

Score
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34 The diagram below shows a germinating seed with its root growing out. After several days,

the roots became longer.

(a) What happens to the cells in the root as the root grows in length? M

The diagram below shows the image of a root cell when observed under a microscope.

{b) Which part of a plant cell is missing in the root cell that can be found in a‘green leaf celi?

M

- e} Expldin why the cell partifi (b} is ot found in'the root cell.

(Go on to the next page)

Score 4




35 The diagram below shows the family treé of Sally, Brenda and Sam.

male O female

Key:

Sally Brenda sém '

Based on the information above, put a tick { ¥ ) in the correct boxes to zndlcate
- whether the statements are True, False or Not possible totell. - -~ .~ " " [2]

1. [otatement” - - ot Trae- ] Fﬁls’é . ['NotPossibletoitell .. .
(a) | Sam has two sis’t’ers ' ‘ L _ L

(b) “'Brenda and Sally are: twms

{© '_;Sam S father has four meces o

Brenda s father and Sam s
b mother are snbllngs

(Go on to the next page)

Score
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36. The bar graphs below show the composition of inhaled and exhaled air.

1 100%

90%

80% SO0 . L .‘ ‘ -'.I .
. 0955, GII 9094 : Carbon dioxide &
70% + : 44 S t o/ ¢ I other gases

60% ' 1 ARG

50%

40% : 59957 '_ A— % Nitrogen

30% g

20% : S

10% ‘ : - y 297779 I

0% R RRRAR
Graph A . Graph B

(a) Whlch bar graph, A or B best represents the composition of inhaled air? Explam your.

choice. 7 _ ‘ : ‘ [1‘]

- (b) . Based onthe graphs above, state one other difference between inhaled and exhaled air. .

[1]
= There isa. part of the skeletal system that prowdes protectlon to one |mportant part
_,‘_-_’:;'-':':ef the- resplratory system . e R T S
ERE What :s this part of the skeletai system and Wthh organ does it protect’? N [2] i

(Go on to the next page)

Score




37 In Diagram 1, Rod A was tied to a string and the North Pole of a magnet is placed near it.
Rod A moved away from the magnet as shown below.

Diagram 1

| Magnet

(a) Based on the observation above.-whét material is Rod A made of? [1]

In Diégram 2,-a flame is pléced u.nd.er'neath Rod A and the Nbriﬁ Pole of fhe same magnet is

placed near if, however, this time the distance between Rod A‘and the magnet reduces.

* Diagram2

“1 (b} Explain the observation in diagram2. T

(Goonto the next page)

Score
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38 - Thegraph belew shows the amount of digested food in the different pait of the digestive
system. '

Mass of food (9)
600

500

400 -

300 - ‘mDigested food (g)

sNUndigested food (g)
200 - |

100 +

G

. 0 L

W
- G

P
Organs in the digestive system

(a) Based on the graph above identify the organ(s) where dlgestlon take(s) place by

putting a tick (v').in the correct box(es) [1]
" Organs inthe - ,fs-,thege;dlrgestlon |-
digestive system tak-_lr?:;rgfiace
R
~© (b) - Whatare the to functions ofihs small intestine in the digestive system? - [1] -

(Go on to the next page) .

A

Score
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11

Sean wanted to conduct an experiment to find out if the amount of exposed surface area

affects the rate of evaporation. Three identical towels of the same size and materials, each

containing the same amount of water, were left hanging out in the open as shown in the

diagram below. Towe! A is fully opened up, towel B is folded once and towel C is folded twice.

After three hours towel A is completely dried, towel B s still wet while towel C is the wettest.

Sean recorded the mass of each towel atthe stant of the exper[ment and at the end of it. The

results are shown in the table below

_ Mass at the start of

Mass after th.'ree.hours.

_ experiment (g) (9)
“-‘-Towel A 300 - 80
Towel B 300 190
Towel C 300 - 250

R and the rate of evaporatlon 1hat Sean can mfer from hIS expenment‘? B ‘.f - '[ﬂ. e

" _-:;‘(__a): '_ ._'_-.‘..Based on the table above what is the relatlonshlp between the. exposed surface area '

- Nare to other factors that affect the rate of evaporation. .

m

(Go on to the next page)

Score
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40 Jonathan prepared the two set-ups as shown below to demonstrate the formation of rain in

the water cycle. The two lamps were switched on.

wall

ice
i S5 -
petri = ) petri—_—_———~
=1 =1
'
SetupA v T Set-up B

(a) . Water droplets was formed at the base of the petn dlsh in set—up A'.

Give an explanation for this observatlon : . - 2]

‘ _(b); - ,There was no water droplets formed at 'the base of the petn dlsh in set-up B Gwe an

';-..explanation for thls observatlon L e o S [1]

(Go on to the next page)

Score
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41 The diagram below is a picture of a pond.

flower of plant L

plant H

(a) Besides providing oxygen for the fish in the pond, suggest two more reasons why
) plant His importarnit for the fish in the pond: _ , -T2

(b)  What will happen to the ovle of the flower of plant L after it has been .
fertilized? _ o | e m

o

 The'seeds of plant L has waterproof-outerlayer. = -

" :(e) " Explain how plarit L disperses its seeds using the charactéristic of the seed. - [1]..

(Go on to the next page)

Score

4
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42  The diagram below shows part of a rainforest.

40

Height (_m)
8

10

-
George wanted to investigate the amount of light at different heights in the rainforest. The

. . table below is the result he collected.

Height (m) Light intensity (units)
.0 L B 50 '
0 . 150
20 R 250
30 350
40 450

Piot a line graph using pencil and ruler to represent the data collected by-George. _ 2}

- Light intensity (units)

s

56 I/-leight (m)

(Go on to the next page)

Score
2
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43 The diagram below shows insect X feeding on the nectar from plant Y’s flower. The haury
body of insect X will brush against the anther and stigma of the ﬂower while doing so.

flower of
plant Y

(a) What process will most ||ker happen to the flower of plant’ Y when Insect X flew to ..

another flower of the same specue to obtain nectar from it? - o .{1] |

Insect X is the only insect that visits the flower of plant Y for hectar.

4:(b)- “State one advantage and one dlsadvantage for Plant Y for th[s close relatlonshlp wath _
MeeolX e e el
:“Q'lead..vantage for Plant Y: o - : .

" One disadvantage for Plant Y: ;.

(Go on to the next page)

Score
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Gary found ‘fruit X with two wing-like structures in the garden as shown in the diagram below.

He decided to investigate if the wing-like structures help to disperse the seed.

fruit X with two
wing-like structures

' Hé dropped the fruit from a héig_ht c_>f 10 m and reoorded the time taken for.the fruit to reach the

ground. He repeated the experiment usingj the same fruit but with its wing-like structure cut-off,

one at a time, as shown below.

fruit X wiih one O fruit X with no wing- :
wing-like structure . like structure

(a) - State one other variable that he must keep the same to ensure that the experimentis

a fair one. S _ ' 1]

'For each of the experiment carried out he compared the results as shown in the table below.

Tnme taken for the frunt to reach the ground (seconds)

FI'UIt X with two wmg—llke _Fruit X with.one wmg—llke Fruit X with no wing-like .
structure e L structure e structure -
216 - . - K 15.1‘ — I N -
- (b} = “What conglusion can be drawn from therestlts-above? ...~~~ R
() E)gb]éin?-why a seed ‘rﬁ:ﬁgt‘rjbé-d‘:ispgrsed_fr_o_m the parentplant. (1 . ‘;.

End of Booklet B

Check your answers.carefully. Score
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EXAM PAPER 2013
SCHOOL : ACS
SUBJECT : PRIMARY 5 SCIENCE

TERM SA2
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31)a)Heat glass B and place ice in glass A. _
b)The heat will cause glass B to expand while the ice will cause glass A to

. contract; making it easier to separate them.
c)No. The water in glass B will cool down faster than the water in glass Aas

| there isa lesser volume of water in glass B.

32)a)The amount of batterles. e o
b)The bulb Ilt up brlghten than when |t was in vmegar than to seawater. o

- ’33)a)B is the msulator
b)1)B1, B2 T
21 B3_ Sk

E 34)a)The cells"d:v:de
_ b)The chloroplast. : ) - ~
© . ‘c)Theroot cell is found underground and does not make food for the plantr

and so itdoes not have chloroplast

e page 103t T T T T page



Answer Key


35)a)T b)Not c)F d)T

36)a)Graph A it has more oxygen than graph B.
b)Inhaled air has more oxygen than exhaled air
c)The ribcage protects the lungs. :

37)a)Either iron, cobalt, nickel or steel.
b)Rod A and the magnet lost some of its magnetism due to heating..

38)a)R S
b)It digest the food once more and absorb nutrients into the bloodstream.

39)a)The larger the exposed surface area the faster the rate of evaporation.
b)i)Speed of wind. ii)Humidity.

40)a)The water in the beaker evaporated and the water vapour rise and touch
the cooler surface of the Petri-dish condense to form water droplets.
b)The base of the Petti-dish in set-up B is not cooler than the water vapour.

41)a)1)The fishes could camouflage with plant X to hide from predators.
2)Plant H provides food for the organisins in the pond. '
b)The ovule will turn into a seed. - '
c)The seed is dispersed by water as the waterproof outer layer of the
- allows it to prevent water from trap air float on 'water.. ‘ ‘ D

42) Light intensity (units)

-850 I

: ;390" .

250




43)a)Pollination.
b)One advantage for Plant Y:
Plant Y’s pollen will not land on flower of other species.

One disadvantage for Plant Y:
Plant Y will be extinct if insect X is extinct.

44)a)The amount of wind..
b)The more wing-like structures longer time to reach the ground. -
c)To prevent overcrowding so the young does not compete with parent
plant for resources.
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